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2. Write a java application that will determine the salary for each of several employees. The
company pays “straight-time” for the first 40 hours, if the employee worked more than 40
hours, we consider the extra hours as overtime and the employee gets 50% extra for each
overtime hour. You are given a list of employees of the company, each employee has a number
of worked hours and hourly rate.

Your application should input this information (worked hours and hourly rate) for each
employee then it should determine and display the employee’s salary.
The program will stop if we enter -1.

Output may appear as follow:

Enter hours worked (-1 to end): 39
Enter hourly rate of the worker ($00.00):10.00
Salary is $390.0

Enter hours worked (-1 to end): 41
Enter hourly rate of the worker ($00.00):10.00

Salary is $415.0

Enter hours worked (-1 to end): -1
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import java.util.Scanner;
public class Main {
public static void main(String[] args) {
System.out.println("ENTER HOURS WORKED");
int hours = 0;
Scanner sc = new Scanner(System.in);
hours = sc.nextInt();
while (hours != -1) {
System.out.printin("ENTER HOURLY RATE");
int hor = sc.nextInt();
if (hours <= 40) {
double sal = hours * hor;
System.out.println("Salary is " + sal + " §");
} else {

int num = hours - 40;
double res = (40 * hor) + (num * hor * 1.5);
System.out.println("Salary is " + res + " $");
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3.

A prime number is a number that has no positive divisors other than 1 and itself. Your
program should stop if we entered a number less than 2. Write a java program that finds the
prime numbers between 2 and 500 using the following method signature, your program will

stop if the user enter a number less than 2
public static boolean isPrime( int number)

Now improve your program to allow the user to enter a number then check if it is prime or

not.
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import java.util.Scanner;
public class Main {
public static void main(String[] args) {
Scanner sc = new Scanner(System.in);
System.out.println("choose an operation:\nl-Check prime number" +
"\n2-Printing prime number from 2 to X ");
int op=sc.nextInt();
switch(op)
{
case 1:System.out.println("Enter a number to check: ");
int num=sc.nextInt();
checkPrime(num) ;
break;

case 2:System.out.println("Enter a number to print all primes up to it :

int num2=sc.nextInt();
isPrime(num2);
break;
default:
System.out.println(" you can only choose 1 or 2 :) ");
break;
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public static void checkPrime(int num){ 1 usage
boolean flag=true;
if (num<2){
System.out.println("number is less than 2 :

return;
+
else {
for (int i=2;i<=num/2;i++){
flag=true;
if (num%i==0){
flag=false;
break;
+
else
flag=true;
+
if (flag)
System.out.println(num+" is prime");
else
System.out.println(num+" is not prime");
+
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public static void isPrime(int num){ 1 usage
if (num<2){
System.out.println("number is less than 2 :( ");
return;
}
else{

for (int i=2;i<=num;i++)
{ boolean isPrime=true;
for (int x=2;x<=i/2;x++)

i
if (i%x==0) {
isPrime = false;
break;
}
}
if(isPrime)

System.out.println(i);




image3.png
1. The body mass index (BMI) is a ratio of person’s weight and height. The index can be used to
determine if a weight is unhealthy for certain height. Here is the formula:

gy = Weight@ounds) x 703
height? (inches)

Write a java program that reads values for weight in kilograms and height in centimetres and
prints out the BML

Hence, the above formula uscs pounds and inches, so you have to include the following two
methods to do the needed conversion.
- Converts from Kilograms to Pounds:

pounds = kilogram x 2.2

public static double kilogramToPound (double kilogram)
- Converts from Centimetres to Inches:

inches = centimeter x 0.39

public static double centimetresToInches (double centimetres)

Your program should also print on screen an interpretation of the BML. Use the following

scale.
BMI Interpretation
15<=BMI< 19 Underweight
19<=BMI <25 Normal
25<=BMI <30 Overweight
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import java.util.Scanner;
public class Main{
public static void main(String [] args){
Scanner sc=new Scanner(System.in);
System.out.println("Enter your weight in kilograms: ");
double weight=sc.nextDouble();
System.out.println("Enter your height in centimetres :");
double height=sc.nextDouble();
double weightP=kilogramToPound(weight);
double heightI=centimetresToInches(height);
double BMI=(weightP*703)/(heightIxheightI);
if (BMI>=15 && BMI<19)
System.out.println("Underweight");
else if (BMI>=19 &% BMI<25)
System.out.println("Normal");
else if (BMI>=25 &% BMI<30)
System.out.println("Overweight");
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public static double kilogramToPound(double kilogram){ 1 usage
return kilogram*2.2;

i

public static double centimetresToInches(double centimetres){ 1usage
return centimetres*0.39;




